

الف)  $x(k) = \left(\frac{1}{v}\right)^k u(k)$   $X(z) = \sum_{k=0}^{\infty} x(k) z^{-k} = \sum_{k=0}^{\infty} \left(\frac{1}{v}\right)^k z^{-k} = \sum_{k=0}^{\infty} \left(\frac{1}{vz}\right)^k = \frac{1}{1 - \frac{1}{vz}}$

ب)  $t^r e^{-at}$   $Z\{t^r\} = \frac{T^r z^{-1} (1+z^{-1})}{(1-z^{-1})^2} \rightarrow Z\{e^{-at} t^r\} = \frac{T^r e^{-aT} z^{-1} (1+e^{-aT} z^{-1})}{(1-e^{-aT} z^{-1})^2}$

الف)  $X(s) = \frac{r(1-e^{-ds})}{s(s+r)} = \frac{r}{s(s+r)} - \frac{e^{-ds}}{s(s+r)} = E_1(s) - e^{-ds} E_1(s)$

$E_1(s) = \frac{1}{s} - \frac{1}{s+r} \rightarrow e_1(t) = \mathcal{L}^{-1}\{E_1(s)\} = u(t) - e^{-rt} u(t)$

$\mathcal{L}^{-1}\{e^{-ds} E_1(s)\} = u(t-d) - e^{-r(t-d)} u(t-d)$

$e(t) = u(t) - e^{-rt} u(t) + u(t-d) - e^{-r(t-d)} u(t-d)$

ب)  $X(s) = \frac{e^{-s}}{s^2(s+1)} = \frac{e^{-s}}{s^2} + \frac{e^{-s}}{s+1} - \frac{e^{-s}}{s} \rightarrow x(t) = (t-1)u(t-1) + e^{-(t-1)} u(t-1) - u(t-1)$

$x(kT) = \left(kT - r + e^{-r(kT-r)}\right) u(kT-r) = \left(kT - r + e^{-r(k - \frac{1}{T})}\right) u\left(T\left(k - \frac{1}{T}\right)\right)$

$\frac{1}{T} = m$   $X(z) = \frac{z^{-m} T^{-1}}{(1-z^{-1})^2} - \frac{z^{-m}}{z} \frac{1}{1-z^{-1}} + \frac{z^{-m}}{z} \frac{1}{1-e^{-rT} z^{-1}}$

ج)  $X(s) = \frac{1-e^{-Ts}}{s} \frac{s+1}{(s+r)(s+1)}$

$X(z) = (1-z^{-1}) z \left\{ \frac{s+1}{s(s+r)(s+1)} \right\} = (1-z^{-1}) z \left\{ \frac{1}{r} + \frac{1}{s+r} - \frac{1}{s+1} \right\}$

$= (1-z^{-1}) \left[ \frac{1}{r(1-z^{-1})} + \frac{1}{r(1-e^{-rT} z^{-1})} + \frac{-1}{vz(1-e^{-1/v} z^{-1})} \right]$



الف)  $G(z) = \frac{z(z-1/4)}{(z-1)(z-1/2)} \Rightarrow \frac{G(z)}{z} = \frac{z}{z-1} + \frac{1}{z-1/2}$

$G(z) = \frac{z}{z-1} + \frac{1}{z-1/2} \rightarrow G(k) = \frac{z}{z-1} u(k) + \frac{1}{z-1/2} u(k)$

ب)  $G(z) = \frac{1 + 4z^{-2} + z^{-3}}{(1-z^{-1})(1-1/2z^{-1})}$  (حذف)

ج)  $E(s) = \frac{1-e^{-Ts}}{s+1} = \left[ \frac{1}{s+1} - \frac{e^{-Ts}}{s+1} \right]^* = \left[ \frac{1}{s+1} \right]^* - \left[ \frac{e^{-Ts}}{s+1} \right]^*$

$= \frac{1}{1-e^{-T(s+1)}} - e^{-Ts} \frac{1}{1-e^{-T(s+1)}} = \frac{1-e^{-Ts}}{1-e^{-T(s+1)}}$

الف)  $E(s) = \frac{s+2}{s(s+1)} \rightarrow E^*(s) = \sum \left[ \begin{matrix} E(\lambda) \text{ ماندوی } \\ \text{دقیبوی } E(\lambda) \end{matrix} \frac{1}{1-e^{-T(s-\lambda)}} \right]$

$E(\lambda) \frac{1}{1-e^{-T(s-\lambda)}} = \frac{\lambda+2}{\lambda(\lambda+1)(1-e^{-T(s-\lambda)})} = \frac{\lambda+2}{\lambda+1} \times \frac{1}{1-e^{-T(s-\lambda)}} \Big|_{\lambda=0} + \frac{\lambda+2}{\lambda(1-e^{-T(s-\lambda)})} \Big|_{\lambda=-1}$

$= \frac{2}{1-e^{-Ts}} - \frac{1}{(1-e^{-T(s+1)})}$

ب)  $\frac{s+2}{s^2(s+1)} \rightarrow E^*(s) = \sum \left[ \begin{matrix} E(\lambda) \text{ ماندوی } \\ \text{دقیبوی } E(\lambda) \end{matrix} \frac{1}{1-e^{-T(s-\lambda)}} \right]$

$\Rightarrow E(\lambda) \frac{1}{1-e^{-T(s-\lambda)}} = \frac{\lambda+2}{\lambda^2(\lambda+1)} \times \frac{1}{1-e^{-T(s-\lambda)}}$

$E^*(s) = \frac{\lambda+2}{\lambda^2} \times \frac{1}{1-e^{-T(s-\lambda)}} \Big|_{\lambda=-1} = \frac{+1}{1-e^{-T(s+1)}}$  ماندو دقیق ساده

$\frac{1}{(r-1)!} \lim_{\lambda \rightarrow 0} \frac{d}{d\lambda} \left[ \frac{(\lambda+2)}{(\lambda+1)} \times \frac{1}{1-e^{-T(s-\lambda)}} \right] = \frac{-(1-e^{-Ts}) + 2Te^{-Ts}}{(1-e^{-Ts})^2}$  ماندو دقیق منفی



الف)  $G(s) = \frac{s+1}{(s+1)(s+2)} \rightarrow \Rightarrow G(s) = \frac{-\frac{1}{2}}{s+2} + \frac{\frac{1}{2}}{s+1} \rightarrow g(t) = \left(-\frac{1}{2}e^{-2t} + \frac{1}{2}e^{-t}\right)u(t)$

$g(nT) = \left(-\frac{1}{2}e^{-2nT} + \frac{1}{2}e^{-nT}\right)u(nT) \rightarrow G(z) = \frac{-\frac{1}{2}}{1-e^{-2T}z^{-1}} + \frac{\frac{1}{2}}{1-e^{-T}z^{-1}}$

ب)  $G(s) = \frac{1-e^{-Ts}}{s} \cdot \frac{1}{(s+1)(s+2)} = (1-e^{-Ts}) \left[ \frac{\frac{1}{2}}{s} + \frac{-1}{s+1} + \frac{\frac{1}{2}}{s+2} \right]$

$G(z) = (1-z^{-1}) \left[ \frac{\frac{1}{2}}{1-z^{-1}} + \frac{-1}{1-e^{-T}z^{-1}} + \frac{\frac{1}{2}}{1-e^{-2T}z^{-1}} \right]$

$x(0) = \lim_{z \rightarrow \infty} z \frac{z^{-1}}{(1-z^{-1})(1+e^{-T}z^{-1}+e^{-2T}z^{-2})} = \frac{1}{1 \times 1} = 0$

$x(\infty) = \lim_{z \rightarrow 1} (1-z^{-1}) \frac{z^{-1}}{(1-z^{-1})(1+e^{-T}z^{-1}+e^{-2T}z^{-2})} = \frac{1}{1+1+e^{-2T}} = \frac{1}{2,2k}$

$X(z) = z \cdot \frac{z}{(z-1)(z+\frac{1}{2})(z+\frac{1}{4})} \Rightarrow \frac{X(z)}{z} = \frac{1}{(z-1)(z+\frac{1}{2})(z+\frac{1}{4})} = \frac{1}{z-1} + \frac{-7/8}{(z+\frac{1}{2})(z+\frac{1}{4})} + \frac{(-7/8)}{(z+\frac{1}{2})(z+\frac{1}{4})}$

$x(k) = \frac{1}{2,2k} u(k) + \frac{1}{2,2k} \left(\frac{1}{2}\right)^k u(k) + \frac{7/8}{2,2k} \left(\frac{1}{4}\right)^k u(k)$

الف)  $z^4 - z^3 + \frac{17}{34}z^2 - \frac{1}{2}z + \frac{1}{18}$

1	-1	$\frac{17}{34}$	$-\frac{1}{2}$	$\frac{1}{18}$
$\frac{1}{18}$	$-\frac{1}{2}$	$\frac{17}{34}$	-1	1

بارون Jury طابع:

-0,9944	-0,987	0,494	-0,9944	←
-0,9944	0,494	-0,987	0,9944	
0,986	-0,984	0,483		←
0,483	-0,984	0,986		
0,984	-0,483			←
-0,483	0,984			
0,483				←

بنا بر این باید اوستا